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EQUATIONS

Solving two equations in two variables - Solving two equations of second degree

in one unknown - General formula - Set of zeroes of the polynomial functions.

SOLVING TWO EQUATION OF THE FIRST DEGREE IN TWO VARIABLES

~ | The solution set of thetwoequation: x+yv=0 , y-5=0In: Rx R is - (Alex 11, Aswan 18)

@ 1{5,-5} ® {5,-5} ® {(-5,5} @ (-5,5)

Bl | The solution set of thetwo equation:x-2y=1 , 3x+y=10in: Rx R is . (Souhag 18, Fayoum 11)
@ {(.2)} ® 12,4)} © 11,3)} @ 1G3,1)}

El The two straighylines:x+2y=1 , 2x+4y=06 are ... (South Sini 21, Ismaillia 21)
(@ Parallel (b) Perpendicular (c) Coincident (d) intersecting

— | The two straightlines:3x+5y=0, 5x-3y =0 are intersected in the - (Alex 14, Beheira 11, Assiut 21)
(@ Origin point (b) first quadrant (©0 secondquadrant (d) fourth quadrant

Bl The Solution set of the two equations: x=3 , v=4 is - ( Qalytibia 21, Minya 21 )

@ {@3,4)} ® {@4,3)} © R @ ¢

Kl TheS.Sin R x Rofthetwoequations:y-3=0 , v+X=01S - (Ismailia 12)

@ {3,3} ® {(-3,3)} © '1@3,0)} @ {(o,3)}

The two straight lines representing the two equations : 2x-y=4 , 2x-3=y are ...
(@ Parallel (b) Perpendicular (c©) Coincident (d) intersecting

Ex The two straight lines representing the two equations: x-y=2 , 2x-2y=4 are
(@ Parallel (b) Perpendicular (c) Coincident (d) intersecting

El | If there are infinite number of solutions in R x R of the two equations: x+4y=7 , 3x+ky=21

Then: k= ( Souhag 19 , Beheira 18 , Qena 17, Dakahlia 12 , Giza 21)

@ 4 ® 7 © 12 @ =21

If the two equations: x+2yv=1 , 2x+ ky=2 has only one solution for, Then k= ... (giza 13)

@ 2 ® 3 ©® 4 @ -4

If the point of intersection of the two equations: x-3=0 and v +2 k=5 lies on the fourth quadrant
, Then k may be equals .

@ -1 ® -2 ® 1 @ 3

The number of solutions of the equation: x+y=5inRx R is ...

(@ zero ® 1 © 2 (@) Infinite numbers

The number of solutions of the equation: x=3 inR is -

@

Zero b 1 © 2 (@ Infinite numbers

Mr. Abdelrahman Essam 2 TEL. 01022543617
KTRABYEL.COM



https://ktabyeg.com

Final Revision ALGEBRA

The number of solutions of the equation: x=7 inR xR is . (cairo 21)
(@ Infinite numbers (b) zero © 1 @ 2

~ | The point of intersection of the two straight lines: x=2 and x+y=6is - (Alex 18)
@ (2,6) ® (2,4) © (4,2) @ (6,2)

| The point of intersection of the two straightlines: 2x-y=3 and 2x+y =5 liesonthe ...
(@ First quadrant. () Second quadrant. (¢) Thirdquadrant. (@) Fourth quadrant.

If the point of intersection of the two straight lines: x -1 =0 and y =2k lies on the fourth quadrant

,then k may be equal - (KEISheikh 16)

@ -5 ® 0 © 1 @ 5
The two straight lines:3x=7 and 2y =19 are ... (matrouh 16, luxor 17)

(@) Parallel (c) Coincide

(©) Intersect and non-perpendicular (d) perpendicular

~ | If the two straight lines which represent the two equations: x+3y=4 and x + ay =7 are parallel

. thena = ( Port Said 18)
@ 6 ® 1 © _-3 @ 3
g If the point ( 9, 2 ) belong to the set of solutions of the equation: x - ky=3 ,thenk=.......

@ 1 ® 2 © 3 @ 6

Two numbers their sum = 13 and their difference is 5, then the two number are -

(@ 7andb6 (b) 8and5 © 9and4 (d 10and3

Three years ago , ahmed's age was x years, then his age after Syearsis ...

@ x+3 ® x+5 © x+8 @ x+2

2] A two-digit-number , ones digit is x and tens digit is y, then the number is ...
(@ x+10y ® y+10x © Xy @ x+Vy

£y If the sum of ages of a father and his son now is 47 years, then the sum of their ages

after 10 years = - years ( Giza 18)

@ 27 b 37 © 57 @ 67
If(5,x-4)=(y+2,3),then:X+y=-— (Luxoris)

@ 6 ® 8 © 10 @ 12
Eq 1f(5,x+1)=(vy,3),then:x+y= . ( Damietta 21)

@ 3 ® 5 © 7 @ 9

The orderd pair which satisfies the equation: x-y=11is ( Red Sea 21)
@ (@1,1) ® (2,1) © @a,2) @ (05,1)
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SOLVING AN EQUATION OF THE SECOND DEGREE IN ONE UNKNOWN

The solution set of the equation : x +1=0 in RiS - (Beni Suef18)

@ {1} ® 1-1,1} © {-1} @ ¢

B3 The solution set of the equation : x _4=0 in RiS .— (South Sini 21, matrouh 21)
@ {-2,2} ® {-2} © {2} @ ¢

EJ If the curve of the quadratic function f passes through the points (-1,0),(0,-4),(4,0)and
And ( 0, - 6 ), Then the solution set of the equation : f (x) =0in RiS - ( gharbia 19)

@ {-1,0} ® {-4,0} © {-1,4} @ {4,-4}

K3 If the curve of the quadratic function f does not intersect X-axis at any points.

, Then the number of solution of the equation: f (x) =0in R is .- ( monofia 47)

(@ Aunique solution (b) =zero (©) two solution (@) An infinite solutions

Bl | The curve of the function f such that f(x) =x°-3x+2 cuts X - axis at the two points ...
@ ((2,0),3,0) ® (2,0),(1,0) © (-2,0),(-1,00) @ (2,0),(-1,0)

B | The solution set of the equations : x° +5x=0 in R is.

@ {o,5} ® {=,0} ® {2,5} @ o

The solution set of the equations : x°-4x+4=0inR is .

@ {-2,2} ® {4.,1} © {2} @ ¢

K3 The solution set of the equations : x°+5=0 in R is -
@ {4s5,-4s5} ® {-45} © {4s} @ ¢
El | | Intheequations:ax®+bx+¢=0if b°-4ac>0,thentheequation has ... rootsin R
( Fuyoum 18 , damietta 16 )
@ 1 ) 2 © zero (@) An infinite solutions

If the curve of the function f : f (x) = ax° + bx + ¢ has a minimum value at x = 2

, then the number of solutions of the equation: f (x) =0inR is ..

@ 0O ® 1 © 2 (@) An infinite solutions

If the point of the vertex of the curve of the function f : f(x) = x +bx+cis(2,8).

, then the solution set of the equation: f (x) =0 inR is -

@ {2,6} ® {-2.,6} © {2,-6} @ {2,0}

If the equation of the symmetry line of the curve of the function f : f(x) = x°+bx-10 isx = % :
, then the solution set of the equation: f (x) =0 inR is - .
@ 110,-1} ® {-2,5} © {2,-s} @ {-1,10}
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If : x = 3 is one of the solutions of the function f : f(x) =x°-ax+3 inR,Then:a= - (Suez 17)
@ 2 ® 1 © -1 @ -8
If the solution set of the equation : x°-ax+4=0inRis{-2},Then:a= - (Gharbia 13)
q ’ d
@ -2 b -4 © 4 @ 2
If the curve of the function f : f(x) =x°-x+¢ passes through the points (2,1)
. then:c= .. ( gharbia 18 )
@ 2 ® 1 © -2 @ -1
The solution set of the equation: ax°+bx+c=0,a=0 graphically is the set of X coordinates of the
point of intersection of the curve of the function f : f(x) = ax °+bx+c withthe .- ( Damiettaa 18 )
(@ Y- axis (b) X-axis (©  Symmetric line (@ Straightliney=2
In the opposite figure : Y;
The solution setof f:f(x) =0is . ( Souhag 18 ) \/
2
@ ¢ ® {3} - X
0 3
© 12,3} @ 12} ¥
The equation of the symmetric axis of the curve of the function f where f(x) =x°-4 is
1S - ( K.ELSheikh 21)
@ X=-4 @ x=0 @ y= 0 @ y=- a
SOLVING TWO EQUATION OF THE FIRST DEGREE IN TWO VARIABLES
| TheS.Softhetwo equations: X-y=0 , Xy=9in Rx R iS- - (Qena 18, gharbia 11)
@ {(0,0)} ® {(-3,3)} © 1{G,3)} @ {G3.,3),(-3,-3)}
Bl If: x+y=3, x°-y°=6inRx R ,then (x-y) =
@ 18 ® 9 © 3 @ 2
B If: 1!»12+3rE =9 ( X+V ) £ o 17 , then : p d fEE
@ 16 ® 8 © 4 @ 2
| one of the solutions of the two equations: x-y=2 , x°+y°= 20 iS - ( Kalyoubia 19 , Qena 17)
@ (-4,2) b (2,-4) © (3,1) @ (4,2)
Bl | | Thedegree of the equation: 3x+4y+Xy=5 IS (Port Said 18, Beheira 21)
(@ Zero (b) First (©) Second (@) Third
I | onesolution of the equation: x°-y°=3 in Rx R is o
@ (1,-2) ® (-2,1) © (1.2) @ (-1,-2)
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The ordered pair that satisfies each of the two equations: xy=2 , x-y= 1 iS - ( Sharkia 12)
@ (1,1) (B (2,1.] & (1,2) @ ((2,-1)
Kl  Thesolution set of thetwo equations: x=v , xy=1inRxRis -
@ {@1,1)} @ {(-1,-1)} © {a,-1} @ {1.,1),(-1,-1)}
Bl If: y=1-x, (x+y)°+y=5,Then:y = (Fayoum12)
@ 5 ® 3 © 4 @ -4
IE; KE+X§;= 15, x+y=5,Then:x=———
@ 3 ® 4 © 5 @ 6
| If the difference between two numbers is 1 and the square of their sum is 25

, then the two numbers are ...

@ 1,2 ® 2,3 © 3,4 @ 4,5
Two positive numbers , their sum is 9 and their product is 8 , then the two numbers are - ( Giza 12)
@ 2,7 ® 3,6 © 4,9 @ 1,8
Ik KE}’+K}*E= 25 ,x+y=5,Then:xy=..—
@ 3 ® 4 CNE - @ 6
If: x+2y=5, (x4+2y-3) e +2x= 10 ,Then:xX= . ->.
@ 2 ® 3 © 6 @ -3
SET OF ZEROES OF A POLYNOMIAL FUNCTIONS
-| The set of zeroes of the function f : f (x) = - 3x iS -~ (Alex 12, Giza 17, Seuz 18 , Damietta 21)
@ 10} ® {-3} © {-3.,0} @ R
B3 The set of zeroes of the function f where f(x) =4 is . (aswan 12, aswan 17, Matrouh 19 , Minya 21)
@ {-4} ® {0} © ¢ @ {2}
EJ The set of zeroes of the function f where f(x) = zero is ... ( Cairo 19 , ismaillia 21)
@ ¢ ® R-{o} ® R @ zero
B3 The set of zeroes of the function f where f(x) = %%+ 9 iS .o ( Dakahlia 19)
@ R ® {3} © {3,-3} @ ¢
B The set of zeroes of the function f where f(x) =x2-4 is . (Qalyubia 21)
@ {2} ® {2,-2} © R @ ¢
I | | The set of zeroes of the function f where f(x) =x (x2-2x+1) iS - (Alex 13, Ismaillia 17)
@ {Bll} @ {ﬂl"'l} @ {_1'1} @ {U,l,ul}
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The set of zeroes of f where f(x) =X -5 iS . ( Damietta 11, Suez 19, Matrouh 21)
@ {zero} ® {5} © {-5} @ {-5,5}

EJ The set of zeroes of f where f (x) = (x -1) % (X +2) iS - ( Suez 12)
@ {1,-2} ® {-1,2} © {-1,-2} @ {1,2}

B if:z(f)={2}, f(x) = x® -m, then : m = (Ismaillia 12, Sharkia 14, Qena 15 )
@ Y2 ® 2 © 4 @ 8

B if:z(f)={1,-2}, fx)=x°+x+a,then:a= - (Sharkia 14, Qena 15)
@ 28 ® 1 © -1 @ -2

S if:z(f)={5}, f(x)=x?-3x%+a,then:a= - (Assiut 11, Port said 14)
@ Yz ® 2 © 4 @ 8

If { - 2, 2 } is the set of zeroes of the function f where f(x) = x ° + @ythen : @= - (Sharkia 21)
@ 2 ® -2 © 4 @ -4

If the set of zeroes of the function f : f(x) = x°+kx+1 is @ , then : k may equal - ( Sharkia 15)
@ 3 ® 2 © 1 @ -2

If the set of zeroes of the function f where f(x)=ax +(b-2)is{2},a-b=4,then:a= ...
@ 1 ® 2 o -2 @ -1

If the set of zeroes of the function f : f (x) = x° + a x + 4 equals to the set of zeroes of the

Function 9:9(x) =x-2 ,then:a= .. ...

@ 2 ® -2 © -4 @ 4

If { 3 } is the set of common zeroes between the two function f: f(x) =x°- axand
9:9(x)=ax+b,then:b= ...

@ 3 ® -3 © 9 @ -9

If : a € the set of zeroes of the function f(x) =x°-2x-3 and a & the set of zeroes of

the function 9(x) =x+1,then:ae -

@ {3} ® {-1,3} © {-1,3,5} @ {3,5}
B If:f(x) =ax®°+bx+cand f (x)=0toeachxe{0,2},then:2a+b+C=
@ 2 ® 4 © O @ 20
The set of zeroes of the function f where f(x)=x3-3 x°-4x+12 is
@ {3} ® {-2,2} © {-2,2,3} @ {2,3}
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The domain of the algebraic fractions - The common domain

Reducing the algebraoic fractions - Operations on the algebraic fractions.

ALGEBRAIC FRACTIONAL FUNCTION

" The domain of the function f where f (x) = =~ BT

X-1
@ {1} ® {-2} © R-{2} @ R-{1}
2

B3  The domain of the function f where f(x) = FK_ E_xx— - iS

@ R-{o} ® R-{-1,3} © R-{0,1} @ R-{1,-3}
|3 The domain of the function f where f(x) = XE';E iS - ( Kalyoubia 17)

@ R-{5} ® R-{-5} © R @ R-{zero}

2

Bl  The domain of the function f where f(x) = :z :i iS

@ R ® R-{-2,2} © {-2.2} @ {2,3}
BB  The domain of the function f where f(x) = x;%{jj] . WA

@ R ® R-{-2,2} © R-{o0,2} @ R-{2}
BB  The domain of the function f where f(x) = KT-H iS - ( Giza 17)

@ R ® R-{0} © R-{-1,0} @ R-{1,0}

. : A X-17 ;

— The domain of the function f where f(x) = TETEY iS

@ R ® R-{1} © R-{-1,3} @ R-{-1}
Bl If: f( )—KE'E f(4)=1,then:b=

| X)) =575 =1,then:b= .

@ -7 ® 7 © 3 @ -3
Bl If: n(x) = _T_ — , and the domain of the function nis R - {-2},then:a= . (Monofia 11)

@ -2 ® 2 ® O @ 7
Ef The domain of the function f where f(x) =x°-4 is .- ( Dakahlia 21)

@ R-{2,-2} ® R-{0} © R @ &
If: ni1(x) = x_+ 53 D 2(x) = = }_{ " and The common domain of the two functions n; and n:

isR-{-2,7},thenk= cc.c. (North Sini 12)

@ 2 ® -2 © 7 @ -7
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X°-5x-14 ,

The domain of the function f : f(x) = = 18 e ( Arab republic of Egypt 21)
@ R ® R-{-3} © R-{3,-3} @ R-{2,-7}
If: n1(x) = if f naz(x) = % , then The common domain of the two functions is ... (Cairo 12)
@ R-{1,-2} ® R © R-{5,-3} @ R-{1,-3}
The common domain of the two functions n1and n> where: n1(x) = 3x-15, n2(x) = x°-4 is

@ R-{5} ® R-{-3} © R-{2,-2,5} @ R
The common domain of the two functions: f(x) = % Cfa(x) = x21+ r iS e (Sharkia 12)

@ R ® R-{1} © R-{1,2} @ R-{1,2,-2}
If the domain of the algebraic fractionnis R-{2,3,4 },then:n(3) = - (Sharkia 19)

@ 3 b 2 © 4 (@) Undefined
If the domain of the functionn: n(x) =—— Eae isR-{ _—3} cthen : k= - (Kafr El Sheikh 19)

4x° +kx+9 E
@ 3 () 2 © a (@) Undefined
THE SET OF ZEROES OF THE ALGEBRAIC FRACTIONAL FUNCTIONS
e _

The set of zeroes of the function f where f(x) = KK . 39 iS .o ( Monofia 17)

@ 13} ® {-3} © {-3,3} @ ¢

: X oz

B3 The set of zeroes of the function f where f(x) = ST, a IS~ (Gharbia 17)

@ {2.-2} ® {-2,-1} © {2,-1} @ {1,-1}

X-5)\x-4) .
( E) ( ) 1S - ( monofia 12 )
X<+ 16

@ {2,-2} ® {-2,-1} © 1{2,-1} @ {1,-1}

EJ The set of zeroes of the function f where f(x) =

sl s2xt<Ax-0
2 P
X“-4

@ R ® {-2,2} © R-{-2,2} @ o

¥ The set of zeroes of the function f where f(x) =

x2+4x-12 . _
ik isi-6}then:k= .

@ 2 ® -2 © 1 @ 6

I If the set of zeroes of the function f where f(x) =

x°-k . o
<> is{2}then:k= ...

I 1f the set of zeroes of the function f where f(x) =

@ 2 ® -2 © 4 @ -4
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|| REDUCING THE ALGEBRAIC FRACTIONS

ALGEBRA

2
The Simplest form of the function f where f(x) = X x+ X andx#0is Giza 12)
@ 3x ® 2x°+1 © x2+1 @ 2x+1
EJ The Simplest form of the function f : f(x) = x: = andX #5iS - (Sharkia 12)
@ 5 ® 0o © -1 @ 1
EJ The Simplest form of the function f : f(x) = x}f i and x=118 .
X+1 X+1
@ X-1 @ 1-X @ 1 @ -1
K3 The simplest form of the functionn : n(x) = :;_T}; suchthatxe R-{3}is .. ( Dakahlia 17)
@ 1 ® -1 © 3 L
El The simplest form of : n(x) = X +1 2 is Fay 5
P : T + . S cvmrensmeeees ( FlyOUM 15 )
1
3 4 1
® ® ® ® =
OPERATIONS ON THE ALGEBRAIC FRACTIONS
The additive inverse of the fraction n: n(x) = :—; andx%-31S .
X+1 1-X X+1 1%
@ X-3 ® X+3 © -(x+3) @ -(x+3)
|2 The fraction f where f(x) = E has an additive inverse if the domain is .-
@ R-{2} ® R-{s} © R-{-2,2} @ R-{0,1}
El If:n(x) = i—;g , then the domain of n™ | — Gharbia 17 , Souhag 18, Port Said 19)
@ R ® R-{2} © R-{-5} @ R-{2,-5}
Bl If:n(x) = - ;:_ 7 then the domain of n™ 1is - ( sharkia 21)
@ R-{0} ® & © R-{-1} @ R-{1,-1}
Gonem o ; -3 X-3.
The multiplicative inverse of the fraction : n(x) = = x == 18 e
5 5
@ X ® - X © x @ -x
BB  Thefraction f where f(x) = ;{%E has a multiplicative inverse if the domainis ...
@ R ® R-{5} © R-{2} @ R-{2,5}
If:n(x) = ‘2_ 3 ,then:n" 1 (3)= e
Xc-4
@ ¢ ® R-{3,-3} © R-{o0} @ R
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5X X
EN If:(x0),then:n(x) = = = .cs ( Souhag 19 , 8-Sini 21)
’ 2 2 9
=gl 25§51

@ -5 ® -1 ® 5 @ 1

El If:n(x) = :;_lj ,then : n-! (2) = s ( Dakahlia 21)
@ 0O b 2 © 3 (@) undefined
The domain of the multiplicative inverse of the function: n(x) = s [ ( Beheira 21)
p X-3

@ R-{3} ® R-{-3} © R-{-2,3} @ R

The domain of the Additive inverse of the function: n(x) = ;—:E iS e ( Port Said 21)

@ R-{2,5} ® R-{2} © R-{5} @ {2,5}

: . X-a e e . C
If the algebraic fraction —— has a multiplicative inverse which is X+3 " then:a= - ( Beni Suef21)

@ R-{2,5} ® R-{2} © R-{s5} @ {2.5}

xF-~2x _ .
(x-3)(x2+2) , then the domain of n™ " i

@ R ® R-{2} © R-{0} @ R-{0,2}

If : n(x) =

S - ( FapoUm 19)

1

If the domain of the function: n(x) = 2 + —

@ O ® -4 © 4 @ 3

isR-{0,4}, then:b= . (giza12)

K — E " " " " " " "
3 , then the domain of its multiplicative inverse is ...
X=+4 el

The function f where f(x) =

( Port Said 17 )

@ R-{2} OF R 19802 | © R-{2,-3,3} @ R-{-3,3}

U293 cno caisl
mozkratgahza
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Operation on the events

U292 o caisl
mozkratgahza

( union - intersection - difference and complement )

The probability of the impossible event equals -

( Kafr El Sheikh 17 , Beni Suef 17 , South Sini 19, Cairo 21, Kalyoubia 21 )

@ ¢ ® Zero © 3 ® 1

B3  If: Aand B are two mutually exclusive events ,,then:P(ANB )= -

(Giza 11, Cairo 12, ﬁhm"hin 15, Monofia 17 , Fayoum 17 , Cairo 19, Ismaillia 19 , Red Sea 21, Dakahlia 21)

@ ¢ ® P(A) © P(B) (@) Zero

ER If : A and B are two events in a sample space for a random experiments, AC B

; then: P ( ANB ) = - ( Kalyoubia 12 , Cairo 16 )
@ P(B) @® P(A) © Zero @ ¢
| 4 | If:AcB,then:P(AUB )= ———. ( Gharbia 12 , Qena 17 , Kalyoubia 18 , Beheira 19, Aswan 19 , Dakahlia 19)
(@ Zero ® P(A) © P(B) @ P(ANB)
Bl  If aregular coinis tossed once, then the probability of getting head or tail is - ( Dakahlia 13 , Alex 14 )
@ 100 % ® 50 % © 25% @ zero
3 If a regular die is rolled once , then the probability of getting an odd number and even
number together equals ... (Fayoum 12, Beheira 14, Alex 16)

(@ Zero @% © @ 1

Blw

If a regular die is rolled once , then the probability of getting an odd number and a prime

number together equals .- (Port Said 19, Kafr £l Sheikh 21)
1 3
@ = (t) Zero © 3 @ 1
Kl If a regular coin is tossed once , then the probability of getting tail is ... ( Beni Suef19)

@ 3 ® 3 ©® 3 @ 1

KX If : A and B are two mutually exclusive events ,P(B ) =0.5andP(AUB ) =0.7

then:P(A)= e ( Alex 17)
@ 0.02 ® 0.2 © 05 @ 0.3
If the probability that a student succeeded is 95 % , then the probability that he does not succeed
is {f\&;'ﬁyﬂﬁ 17 )
@ 20% ® 5% © 5010 % @ zero
If : A and B are two mutually exclusive events ,then: AN B = . (Assiut 21, Alex 21, Cairo 21)

(@ zero () 0.5 & 1 @ ¢
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If : A and B are two events in a sample space , then the event of occurrence of Aonlyis= - ( Menia 15)
@ A ® A-B © ANB @ AUB
If : A is an event from the sample space of a random experiment ,P ( A') = . ( Dakahlia 17)
@ 1 b -1 © 1-P(A) @ P(A)-1
lf P ( A ) =4P ( Ax] ; ﬂ'l'El'l P ( A ) = e ( Kalyoubia 17 , Kalyoubia 18 )
@ 0.8 ® 0.6 © 04 @ 0.2
If:P(A)= % ,then:P (A') = —— (Giza 12, Assiut 17)
1 2 1
® 1 ® 2 ® 1 @ 1
If:P { A ] = P ( A\'] . then: P ( A ] = - (Alex 12, Dakahlia 12, Giza 17 , Suez 19)
(@ Zero b 1 © % @ %
If : X c Sand X is the complementary event to event X, then: P (XN X') = . (Assiut 19)
(@ zero S © ¢ @ 1
If : A and B are two events in a sample space of a random experiment ,P (A ) = % ,P(B) = %
P(AUB) =32, then:P(ANB) = (Dokahlia 12
1 1 1 1
@ 3 ® 3 ©" 3 @ 5
If : Aand B are two events in a random experimentandAc B,then:P(A-B) = .
(@ zero ® P(A)-P(B) © P(B)-P(A) @ P(A)
If : Ac S of arandom experimentand P (A' ) = 2P (A) ,then:P (A ) = - (Alex 19, Port Said 19)
il 1 | 2
® 1 ® 1 ® 2 @ 1
BY1f:P(A)+P(A)=2k then:k= (Giza 19)
1 1 1
@ 1 ® 1 ® 1} @ %
EAIf:ANB=¢ ,then:P(A-B) = . ( Kalyouhia 19)
@ P(A) b P(B) © P(B-A) @ 1
EX] In The opposite Figure : 3
B «b A

If : A and B are two events in a sample space of a random experiment @
Then,P ( B-A) = - (Kafr El Sheikh 19) "2

@ 3 ® ;3 © ¢ @

N W
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EQUATIONS

Solving two equations in two variables - Solving two equations of second degree

in one unknown - General foarmulo - Set of zeroes of the polynomial functions.

SOLVING TWO EQUATION OF THE FIRST DEGREE IN TWO VARIABLES

Find in R x Rthe solution set of the two equations

5 X+y=5 and X - V=1 (8-Sini 13, Kafr El Sheikh 21 ) {(3,2)}
(2] 2x-y=3 and X + 2V =4 (N-Valley 12, Alex 18 , Sharkia 19 , Damietta 21 ) iz .-11)
(3] v=X+4 and X +V = 4 ( Souhag 16 , Gharbia 19, $-Sini 21) {(0,4)}
(4] 3x+4y=24 and X - 2V = - 2 ( Giza 12, Gharbia 18 ) {(a,3)}
(5] 2x+3y=7 and 3x+2y=8 {(2,1)}
Bl Find in R x R the S_S of the fwo Equalions : % - % = % and ; + ETY =1 {(2,0)}

EY Find the values of a and b knowing that (3, - 1) is the solution set of the two equations :

ax+by-5=0 and 3ax+by=17 (gharbia 16, Damietta 17, Luxor 18 ) (a=2,b=1)

Find the valves of aandb,If: (a,2a) is a solution for the two equations :

3IX-y=5 and X +V = =1 ( Dakahlia 17) (a=1,b=-1)

Bl  Arectangle is with a length more than its width by 4 cm. If the perimeter of rectangle is 28 cm.

-
Find the area of the reclangle. (Alex 12 , Cairo 17 , Kalyoubia 19 ) (45 cm.)
6. Two acute angles in a right-angled triangle , the difference between their measures is 50°.
find the measure of each ﬂl‘lglﬂ. ( Sharkia 12, Damietta 17, Kalyoubia 18 , Beheira 19 , Dakahlia 21) ( 70° ,20° )

~ Atwo-digit number , the sum of its digits is 11, if the two digits reversed , then the resulted number

will be more than the original number by 9. whal is the original number. ( Kafr El Sheikh 16) ( 45 )

Kl Find algebraically in R x R Fhe solulion sel of :
the equations represented by the two straight lines : 2 x - y =1 and the straight line
passes through the two points (1,-2) and (-1, -4) {(-2,5)}

KN If the straight lines whose equationsare:x+y=3, 3x-2y+1=0and v+kx=4

intersects at the same point , then Find the value of k. (k=2)

If the two points (3,1) , (5,5) lies on the straightlineax+by =5

Find the value of aandb. (a=2,b=-1)

Mr. Abdelrahman Essam 15 TEL. 01022543617
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Final Revision

SOLVING AN EQUATION OF THE SECOND DEGREE IN ONE UNKNOWN

Find in R the solution set of the following equations using the general formula

ALGEBRA

EE x 2_4x+1=0 (rounding the result to two decimal digits) ( Beheira 11, Alex 13 , Aswan 14 , Giza 17) { 0.27 ,3.73 }

(2] [EF 2x 2 _4x+1=0 (Approximating the result to the nearest three decimal places)

( Qena 12 , Dakahlia 19 , Kalyoubia 19 ) { 0.293,1.707 }

(3) 3x c=5x-1 (Approximating the result to two decimals) ( Helwan 11, Luxor 17 , Monofia 19) { 0.23,1.43 }
(4) EE x (x-1) =4 (taking 17 = 4.12) ( Sharkia 17 , Souhag 19) { - 1.56, 2.56 }
5] x + % =b (rounding the result to one decimal digit) (Damietta19){ 0.8, 5.2}
6) (x-4)(x-2) =1 (taking/2 = 1.41) (Monofia 17) { 159, 4.41 )

EJ CGraph the function f where f (x) =x °_2x+3 over theinterval [ - 1,3 ], then from the graph

, €ind the solulion sel of the equation: x°-2x+3=0 (Qena 19)

El Find in R the solution set of the following equations using the general formula
3 5

{ {":J 0

— + —— =2 (rounding the result to two decimal digits) [_0.44,3.44)

x X+1

X+1 2X+3
2]

ol = o= g (rounding the result to two decimal digits) i-4

B3 If: x =3 is the equation of the symmetry axis of the curve of the function f where

f(x) =x°+ax+8, Then, find the solulion sel of the equalion: f(x) =0

If : (2, - 3) is the point of the vertex of the curve of the function § where

f(x)==x c+ax+b , Then, €ind the solulion sel of the equalion : f(x) = 0 {-0.24 ,4.24}

I3 If the solution set of the equation: x°+ax+b=01is{3,-5}

, then : Find the valuves of a and b. (a=2,b=-15)

2

If x =3 is one of the two roots of the function: x“+ax+b=0anda-b=1

, then : Find the other root. (-1)
El ¢ind the solulion sel of the equation in R : (x+2) %+ 16 = 5x°+20x {0,-4,-1,-3}
Mr. Abdelrahman Essam 16 TEL. 01022543617
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Final Revision ALGEBRA

SOLVING TWO EQUATION OF THE FIRST DEGREE IN TWO VARIABLES

Find in R x Rthe solution set of the two equations :

x-y=0 and 3 = 4 ( Ismaillia 18 , Dakahlia 19){(2,2) , (- 2,-2)}
@ X-yV= and KE+ YE=25 ( Port Said 18 , Aswan 19 , Giza 21) {(-3,-4),(4,3)}
(3] Xx-y=0 and KE+Ky+ }'E=E? ( Alex 19 , Kalyoubia 21) {(3,3),(-3,-3)}
@ | ?—X=3 and KE+YE—X'§F=13 [I{ﬁhﬂﬂuhm1?,S=Sr'ni’21}{{1,-’1},[~4__-1]}
5] - yv+2x=7 and (Y+E}{—E]E+ x%=5 ( Dakahlia 21) {(2,3),(-2,11)}
(6] == x+y=2 and %+%=there x=0,vy=0 (Menia19) {(1,1)}

B3 The difference between two numbers is 5 and the product of them is 36.

Find the Iwo numbers (Giza12) (4and9)

EN The sum of two integers is 9 and the difference between their squares is 27 .

find the wo numbers ( Dakahlia 12 ) (6and 3 )

~ Aright-angled triangle of hypotenuse length 13 cm. and its perimeter is 30 cm.

Find the lengths of the other fwo sides. ( Monofia 15 ) (5 cm. , 12 cm. )

Bl  Aright-angled triangle of hypotenuse length 13 cm. and its perimeter is 30 cm.

Find the lengths of the other fwo sides. (Monofia 15) ( 5cm., 12 cm. )

SOLVING TWO EQUATION OF THE FIRST DEGREE IN TWO VARIABLES

Find in R the set of zeroes of the following functions:

f(x) =x®-2x+1 (8-Sinai21){1}
2) f(x)=x3+x°%-20x ( Beni-Suef21){0,-5,4}
3] fx)=(x-2)(x+3)+4 (Monofia15){-2,1}
A f(x)=x3-3x°-4x+12 T

Bl If the set of zeroes of the function f where f (x) =ax®+bx+15is{3,5}

, then : Find the values of a andb. (Fayoum19) (@ =1,b=-8)

EJ If the set of zeroes of the function f where f (x) = ax®+ x+bis{0,1}

, then : Find the values of a andb. (Alex17)(a=-1,b=0)
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ALGEBRIC FRACTIONS

The domain of the algebraic fractions - The common domain

Reducing the algebraoic fractions - Operations on the algebraic fractions.

ALGEBRAIC FRACTIONAL FUNCTION

Find n (x) in the simplest form , showing its domain.

2
- X--4
n(x)=——

x3-8
| x3 41
nwx)=
2] (x) X3 -X% 4+ X
| x3 +x°-2
3) n (x) = X+ 1
2 X X% 4+2X

Bl If: n1(x) = Y nz(x) = =%

Prove “‘II‘.‘I" - N1 = N2 ( Menia 17, Beheira 19, Red sea 21)

2 3 2
: X X" +X"+X
B . If:ll1(}{]= Ka KE ? Ila(X]: 5

_ X X“+X+1
n If:ﬂ1(1{]=m " HE(X}= K§ .

_ x°4x-5 x°-9
B If:ni(x) = KE—?-'I- , na2(x) = KE—K-—E'

Show whether : n1 = n;or not « Dakahlia 17 , Ismaillia 21)

OPERATIONS ON THE ALGEBRAIC FRACTIONS

~ Find n (x) in the simplest form , showing the domain of n where :
X X+4
nix)= - . { Damietta 11 , Aswan 16 , North Sini 17 , Kalyoubia 18 , Red Sea 21 , Giza 21)
(X)=3-7 - =7 3¢ | bia 18 , Red Sea 21, G
X% +3x 2 |
@ n (K) = + ( Dakahlia 17 , Suez 18 )

x24+2x-3 x2-3x42

X°-2x+4 A | _ |
@ n(x)= 3 + > . (Assiut 08 , Damietta 19 )
x“+8 X 4+X-¢
x X+2 , _
@ n (K) = —3 + > . ( Aswan 12 , Sharkia 14 , Souhag 15, Port Said 21)
X5 12%  XF-4
(5] n (x) A B + EXHD Cairo 12 , Beheira 14 , Qena 17)
—_— T = « L Laro 11 p LAIrg 1 y DENENrd 1 J ena 1
Xx°2-5X+6 X°4+X-6
Mr. Abdelrahman Essam 18 TEL. 01022543617
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Final Revision

ALGEBRA

g_-x°

P X°4+2x+4
(6] B8 n(x) = = - s

- 5-X

5 « ( Beheira 15 , Alex 17 , Sharkia 17 , Monofia 18 )
X“+X-b

it m e Y

X2-1 X°-BX+5

X°+2x+1 _ x-4

« (Luxor 17 , Menia 18 , Dakahlia 19 , Souhag 21)

n(x)==—73_g X

X1

« ( 1smaillia 15 , Cairo 16 , Suez 17)

. x3-1 2X-2 . . |
@ 5] n(x) = 5 X —s . ( Souhag 12 , Luxor 17 , Fayoum 17 , Monofia 18 , Kalyoubia 18 , Dakahlia 19 , Beheira 21 )
X“-2X+1 Xx°+x+1
10) n (x) x-1 . _x°-5% ( Aswan 14 , Beheira 15 , Menia 16 , Matrouh 19)
= . ( Aswan 14 , Beheira 15 , Menia 16 , Matrou
Xx°-1 " x°-4x-5
11) EF n (x) e L i, B A i
- = 5 —_— = . ex 16 , beheilra 18 , Gharnia 1
x%-9 X°-6x+9 9
12 EF n (x) x°-2x+1 . _x-1 (Alex 11 , Qalyubia 12 , Gharbia 17 ,/Dakahlia 18 , Suez 19 )
- — « | AlEX , Balyuhia , Gharnid , LDaRanlla y OUBZ
x3-1 , G2 B | )
2
13) n(x)= T T and find n ( 1 ). (gharbia 12, Beheira 17, Assiut 19 , Fayoum 19 )
- |
X~ -8 X+ 3
n(x) = . ( Souhag 19, Red Sea 19 , Red Sea 21, Dakahlia 21)

i) B2 n (x) = 23

#3 1f the domain of the Function

X
x24+xXx-6 x%42xX+4

e T

X-3 _
ﬂ.fﬂasmf 19, Luxor 19 , Alex 21)
b g .
nwhere n (x) = £ + — isR-{0,4},n(5) =2

find : thevalueof a and b. ( Menia 14 , Beheira 15 , Kafr El Sheikh 16 , South Sini 17, Sharkia 19 )

X% -2X
(x-290x0 &)

El If:n(x)=

find : n~ ! ( x),showing its domain.

(2) If:n~1(x) =3, What : the value of X (Aswan 16, Gharbia 17, Port Said 17, Kalyoubia 18 , Alex 19)

I3 If the set of zeroes of the function f where f(x) = &

2
Kb;ﬁi"'ﬂis{d}anditsdumainis R-{2}

Ffind : thevalueof a andb. ( sharkia 17)

r

If the domainofn:n (x) = £ +

X-1m

find : thevalueof L and m. ( Menia 17)
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PROBABILITY N

Operation on the events mozkr"atga hza

( union - intersection - difference and complement )

If : A and B are two mutually exclusive events in a sample space of a random experiment
andP (A) = % P(B)= % Then¥tind P (AUB). (Aswan 17, Qena 18, Gharbia 18) ( 2)
B3  If: Aand B are two events in a sample space of a random experiment

,P(B)=5,P(AUB)=3,ThenFind P (A) if:

1] A and B are two mutually exclusive events

: s : . . 1 1
B ACB ( Cairo 11, North Sini 14, Luxor 17 , Kafr El Sheikh 17, Port Said 18) « -, 3)

BN A box contains 12 balls , 5 of them are blue , 4 are red and the left are white. A ball is randomly

drawn from the box . Find the probability that the drawn ball is :

C

Blue (2] Notred 3] Blue or red (North Sini.12 ,Alex 13 ) Luxor 18 , Souhag 18) « =

wjrd
B | L

EJ If: Xand Y are two events in a sample space of a random experiment where :

P(Y):E,P(X )=P(X“).P(Xﬂ?):%Thenrind:

P(X) @ P(XUY) (. Dakahlia 14 , Kalyoubia 16 , Kafr El Sheikh 18 ) « ‘

I"“-..III-
I-—'-I___J
(=

B If : A and B are two events in a sample space of a random experiment

,P(A)=07,P(B)=04,P(ANB)=0.2,ThenF¥ind :

T P(A) 2] P(AUB) (Cairo 12) « 0.2,0.9)

K 1f : Aand B are two events in a sample space of a random experiment

P(A)=06,P(B)=03,P(ANB)=0.2, ThenFind:

1)P(AUB) 2 P(A-B) (Giza12) «0.7,0.4 »
A bag contains 20 identical card numbered from 1 to 20. A card is randomly drawn.

Find the probability that the number on the card is :

Divisible by 3 (2] An odd and divisible by 5 ¢ Shisrkic 12) € ns)

10 ' 10
KX If : Aand B are two events in a sample space of a random experiment.

,P(A]:ﬂ.ﬂ y P(B)=0.7 ; P(ﬁﬂB):ﬂ.E,ThEl’lfil’le

1] The probability of non-occurrence of the event A

2] The probability of occurrence of the two events at least

3] The probability of occurrence of one event without the other

( Gharbia 17 , SharRia 17 , Kalyoubia 19 , Beheira 19, Beheira 21) « 0.2,0.9, 0.3)

Best wishes, mr Abdelrahman Essam
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